BORILLA oPORTS

Core Trainer (10000801)




HUORILLA oPOATS

Washer: (b 12) Lock Nut: (M12)
N
© ©
4X 2X

Hex Bolt: (M12%110)

2X

Expansion Bolt: (M10%*80)

=




SHUORILLA oPOATS

170mm—460mm

Maximum load 800KG



| ©) ©

Washer (& 12) -2PCS Lock Nut (M12)-1PC

:

Hex Bolt (M12%110)-1PC




2 ©) ©

Washer (& 12) -2PCS Lock Nut (M12)-1PC

:

Hex Bolt (M12%110)-1PC




3 j—r

Expansion Bolt (M10%80)—-2PCS

i M10%80



HOORILLA oPORTS

PROFESSIONAL GYM EQUIPMENT FOR EVERYONE

Notes:
This product should be put in the 90 degrees of corner.

There’s a risk of falling down if it leans against wall.



